NAME L/\Z‘/ DATE
e

PERIOD
Unit 2 Review ~ (x =Yt D) Zy SCORE
2 X
(Chapters 3-4) s D(X __3) 3’;
For Questlons 1-7, simplify. Assume that no denominator equals 0 1. b7)f % ’JSK “"é-
7 fty "[}x L 1% +%
— £
1. (7x2 +3x-9)—(—x%2 +8x-3) 2. _Z/f';(f
(Zr=3)(Zx—3) z_
2.5x3(7x)? =S x%-YFx2 3. (2x - 3)? 3. Wn’ /2x 7
s Vit A
oo ey ‘ =23
‘2xy-—10y+3x-15 (2)(/.,3) :
Zyx - 4 x(x-T) = i fx-—r’) 5. 7)(\,2
s \/_+3\/_+x/_ 5 ’
“‘3(113,_) Z3+% 1+ _ —|2Y¢ . +Z7/ ’
71-31) (/T3L) 2 f—?(_-f— = ,_!-? - - 7. /e /v
/
8. Use synthetic division to find (2x3 — 5x2 + 7x — 1) + (x = 1). 3. ;7) L }:’( w yf‘ %_ /
: Sz 7] s
9. Write the expression me in radical form. i,7—’/}—¢' 9. V. 7
0. Solve V3 1.5 & 2373 ] 0. x4/
10. Solve v3x + +4if7x 7-55&43 ’ =
e o X 4
xtCc £ 5 Cf’_ .
11. Graph fix) = ¥4 dx - 3, labelmg the y-intercept, velTex and axis of 11. LA O
symmetry. g ) - % s _,5 ’,_(tj) _,y o /
vy ok za4 PL1) T A
<(+2) = —(72) +‘/ﬁ02)’3 7
3 SO
9 = @B gRERSINNTS
12. The shape of a supporting arch can be modeled by A(x) = —-0.03x2 + 3x, 2,09 4 Z& yﬂ) /jﬂ/
where A(x) represents the height of the arch and x represents the horizontal “75 ) (_07"
distance from one end of the base of the arch in meters. Find the maximum
height of the arch. 3= ——é —~CE) _ 1 .cO 12. 4[_}"0) = 75”"
e/ /%y “
13, Solve 2x® =324 2 m If exau( t roots c)annot be found, state the [/
consecutive integers between which the roots are located. = . K= TSR
T gap oo (Zxr])X-0d <o ST :
14. Solve x? — 2x = 24 by factoring, 3477 ('x—-[\) w87 14. P Jud _?j s
Aiopxotfop L 4 '
15. Write a quadratic equation with — 5 and 4 as its roots. Write the equation in ? y _
the form ax? + bx + ¢ = 0, where a, b, and ¢ are integers. f){' 7"? )/)( ’4’) 1S. X =7 ;)c / 2
)Tk X x#/é,x —/2 ) € Axss 7/3(—‘9) "y /%
16. Find the exact solutions to 6x2 + x + 4 = 0 by using the uadlatlc 7
Formula, x = —)4 77222 * /7 7= ——/""LW’ 16. /"?37/ SZ. 4',,1M
- - T /Q_ e A 4
17. Find the value of the disérifftinant for 9x2 + 1 = 6x. Then describe the /z ._Z /?c/ SQA /ﬁ 0
number and type of roots for the equation. ] ¥7
Ix2 gy, ) reAone
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Unlt 2 ReVIeW (continued) apel{j; e ) 5 Ley f@){
7
18. Identify the vertex, axis of symmetry, and direction of opening for 18. <7 C— ;J = )
=2(x + 3)2- " N
19. Write y=—4x? + 8x— | in veﬂ:e\(ﬁM7 705 /) +3 9.y = y/)( /.) 7
—F 3t 25e)) < | 2T
20. Graph y > #2 — 2x+ Iy 7"@_}7/- ({7/ O)
\
Yy 7%~ ))* 2> | felse )
For Questions 21 and 22, use the matrices below. \) o
A= 17 2 3| __|1 —7| ‘lzll %L
11 4 -9 3 0 5
/0 2l )y 21. zr;hq
21.Find 4 - B. 12 (-)) .,ug(.,) _,,/-7)(__2) —y
22. Find BC, if possible. Ch-1 3 2) + @), / % / 7]
4 4¢ 40 _ T
23. Solve the system of inequalities w dx-y=4 f e/ L9
by graphing. X Jy<—x+ 6( (v 6’) Tl L — ?
_7—1 l/1rs
o) Tees 2L 6 frup VBTN Yo
2°Y (9 /q/ AL,
12_5 -2 /% 074 2%, o
24. Evaluatel 3 0:1 |Ts?ng@1agonals =
-5 4 2\'§§ ¢
30 E 24.
25. Use Cramer’s Rule to set up the solution for y of equations ?Bx —5y=21and >’ IL
4x + 2y =2. Do not solve. b s XVZyw =7 725_ =
26. Solve the matrix equation | —5| - |m| =| =2 | using the inverse~ (; ""V)
4 2 1" I T hag] IR 26. /

Chapter 6 74 Glencoe Algebra 2



